1758 %14 1%

1 = @bER

175 RGP SR AT O R IR AR e a5 4, R Bk B 5 7A 1
FRE A — BRI, WMEBHREEZNZCR, BA MR

R % B e X e

175 e L& G B “C U 5 1t ], AT 4% G 14Tl g B

i
1.1 A%

« DN40-200mm(1%-8")

1.2 EEHN
. RN
« NEFEWE

1.3 mATEEH: £2HFE40MPa

1.4 A

© AT EEREAE IS EE U O, W%
© RARVEER, MR G AR .

2 BEHMER

RUVJAX"®

Y Z
= ﬁfﬁﬁ
= {/(/ 5 \;\ 73| S
U Y
N
4 ik

"

2.1 ShFE: FREB4E4K, GB/T1348,QT450-12, i1 78 & >450MPa,

O RAL3000ZL {4, ¥ 5 H i

o e
2.3 BHE.

JE R SR E>312MPa, ZE{H K >12%.
22 RARE

*E1=JCOW: EHTWAK. #ok. K. THZTR, SHE

J-40°CE125°C

FIRBR: EHFER. W. WS,
- SORERRIR: EFTHM. S,

180°C

o 2 BRI AL S

2.4 124

« 8.8Z 1 MR SE NS, HUP T 800MPa, HEAEEE;

pag=s

= SO )

& H I E-30°"C & 150°C
EHIRE-70CE

2.5 138
- 8.0 BB IREE, HUAisEE800MPa, I AHEE;
3R~
NRER | SRONE =®A BA FOHF FVF " . 1B/ 126 wE
IHEED  Emh  EwnEls (wEE S He
mm mm MPa N mm Jis3 mm mm mm mm kg
32 42.4 4.0 5831 0-1.6 2°10° 509 115 46 M10x42 2 0.6
40 48.3 4.0 7567 0-1.6 1°54° 66 122 46 M10x42 2 0.7
50 57.0 4.0 10539 0-1.6 1°36° 75 131 46 M10x42 2 0.7
50 60.3 4.0 11794 0-1.6 1°31° 78 134 46 M10x42 2 0.8
65 73.0 4.0 17286 0-1.6 1°15° )il 149 46 M10x52 2 0.9
65 76.1 4.0 18785 0-1.6 1°12° 94 150 46 M10x52 2 0.9
80 88.9 4.0 25636 0-1.6 1°2° 107 164 46 M10x52 2 1.0
100 108.0 4.0 37834 0-3.2 1°42° 127 188 51 M12x62 2 1.4
100 114.3 4.0 42377 0-3.2 1°36° 134 195 51 M12x62 2 1.5
125 133.0 4.0 57378 0-3.2 1°23° 154 231 51 M16x75 2 2.2
150 159.0 4.0 82004 0-3.2 1°9° 181 257 51 M16x75 2 2.5
200 219.1 4.0 155713 0-3.2 0°50° 246 329 58 M20x90 2 4.2

o RN TARIE IR TARIE J7, Bk AR TR 0 598 3 0 A 5 T b v A0 R v ) R 5 e £ PR SR S0 0 8 i P S A

o 175RFSIOATRYERSk,  REAMEE I R AIK 4

o R P BB I T bR A, AR DRI PeRETTRE NG . PRSI, BB AR IAAAE, X SEHUHRIBRC, o T80mm R UL R IE FAIKS0%, X
F100mm & BA_F I K 25% -

« AT G Rk Sl

EEFRKENREERAT | EBETIWKS2K221E | BiF: 021-5954-6955 | www.ruvjax.com | ISO9001: 2016FREMHRRIAILE

1



